£740 MEO-XAYTLITLAKE
647 —LEE EITRN\T—D

H—Fv FBI—T>

AJOvY K 2 3 |=7se| mm | IEE
BK EfE (%R TC)
"5 T @ERTC) 61 | 60 2 | 2-0| 1
B BZE OL>X)
2|z 72 L2 16 61 2 | 1-1 :
B BRE (57— T.C)
* e zm oz-1.c) | 06 | 16 2 1021 3
1(1—2) 2(2—3) 3(1—3)
BJOw% | 4 5 6 7 |sETsal Bk | JER
FARk HEF (TR TC)
YlEn mE e 26 | 60 | o6 3 | 1-2| 3
FE =F (GSH)
5 lam 2 (GSH) 62 62 62 3 3-0 1
%3 A= (MTC)
® lmm =7 GELOrL) 06 26 46 3 0-3 4
¥¥E TF (Tension)
T lmk mF ooeERD) 65 26 64 3 2-1 2
1(4—5) 2(6—7) 3(4—6) 4(5—7) 5(4—7) 6(5—6)
cJayy | 8 9 10 11 |ETHA] BK | B
RE HF H>5-T.C)
8 o BF 2=2) 61 61 60 3 3-0 1
ZElTi53E (Tension)
’ |zrmzE7 (TBN) 16 63 | 36 ) 3 |12 3
X BF (MTC)
10 _
R B (any time) 16 36 36 3 0-3 4
2 ARDD (T V\EFEERED)
1= — 06 63 63 3 2—-1 2
2H BEF (B>7-T.0)
1(8—9) 2(10—11) 3(8—10) 4(9—11) 5(8—11) 6(9—10)
DJEvY | 12 13 14 15 |ETsa] BK | JEM
LIUA {48 (Tension)
210 mm (J3-1-) 60 26 16 3 1-2 3
BA BF (H>7-T.0)
1 —
SRHBEET TLAMN 06 36 | 16 3 03| 4
t  FF (any time)
14 —
A % (OLYX) 62 63 60 3 3-0 1
5 f1F (GELOSVIL)
"l esnos GELO(L) 61 61 06 3 2-1 2
1(12—13) 2(14—15) 3(12—14) 4(13—15) 5(12—15) 6(13—14)

U—k 1GEK-GEE 2.UK-iEH

3. 4. RIR-AI% FKR-A




£740 MEO—XHVIETLAAR

FH—T> REb—FA

AJOvo14L

AK HBEFEERTC)
T BF (FEERTC)

BJOwH 141

Tk ERF(GSH)
EH EF(GSH)

c7avyy 14

RER HF(HoT—TC)
W BF(TFU=R)

DJOwH 141

fih  FF(any time)
A& ¥ (FL2X)

63

<H—TY 2f0BEEL—FAVE>

AT Oy) 241

BHF BAE(TJLUX)
=85 FE(OLUX)

67 —LKEmW EITRN\T—D

60 &K HE(FEERTC)

Ik EF(FAERTC)

45— LER HITRNALT—S

BJOwH241

¥fd T F(Tension)
fExk 1EF (DT UVEEBKER)

42

c7avy24

TERRYD (PF WEEBKER)
2B EF(HT—T0)

DJOwH2{1

il MFGEELOALYvIL)
RFMN DA (FRILUOALYIL)

40

<F—T BuBEr—FAF>

AJOvo34r

WE MRE(Y>T—T.0)
INRE EFE(HUT—T0)

42 FiE FFG@EWUACYIL)

FFMNDH (BLLAAYIL)

A5—LER EITRALT—

BJ 0w/ 34

KR HF(FEERTC)
Bl RAFGEELOALYIL)

40

conwyo3fir

LZERTF#53E (Tension)
=REZEF(TBN)

DJ 03I

A {E# (Tension)
mil EE(Ja——)

42

42 FAK BF(FEERTC)
&) AFEELAATL)



F£74E MEO—XXHYTFTILAKRE
<A—T> AfBENFAVL> A5 —LER EITRNAVT—D
B7 w44
®HF FAEWMTO)
MR FF(@RLUoqy)iL) 42
CoOvhal N
X EF(MTC) 43 x& EF(MTC)
h#&% E#l(any time) gk Hfl(any time)
DT A4 44i
BX #F(HUoT7—T.0)
RHEBEF (TLAA)




F740 #MEO—HVITHTTILAKE

<B#k FBU-—T>

65 — LKW EITRNALTF—S

AT Ov% K 2 3 |=THE| BK | JER
MDD (FER T C)

1 —_—
MSRERIRT (PTVEEERRED) 64 64 2 2-0 1
B B8F OL2X)

2 —_—

B RF (EoATIL) 46 26 2 0-2 8
e JIF (VFEDHTC)

3 —_—

R =T (any time) 46 62 2 1~ 2
1(1—2) 2(2—3) 3(1—3)

BJOv% | 4 5 6 [sTHal B | JEE
MAfEF=F (any time)

4 —

MM BF GELOPIY) 56 64 2 - 2
LA AL H>F-T.C)

5 —

FH PE (Y>57—T.C) 65 65 2 2-0 1
Bi§ BmE OLXX)

6 —
MABIEZE (STT) 46 56 2 0-2 3
1(4—5) 2(5—6) 3(4—6)

coayy | 7 8 9 |=THE| BK | B
AREETF (STT)

7 —

LA BF (STT) 63 64 2 2-0 1
FHHEF (any time)

8 —
ERERER (STT) 36 64 2 1-1 2
¥E BF GELO/PI)

9 —

BA FE RO/ 46 46 2 0-2 3
1(7—8) 2(8—9) 3(7—9)

DI vy | 10 11 12 |E7#HA| B | JEf
HApEEE (STT)

10 -

B0 FE (STT) 61 62 2 2-0 1
AF —% (GSH)

11 -

ALt JEF (GSH) 16 64 2 - 2
MR HFR (GELO(TI)

12 —
BEBET (@Lo(L) 26 46 2 0-2 3
1(10—11) 2(11—12) 3(10—12)

U—F 1. fT-BE 2 BHBR-FO

3. 4. AfF-WWEX HEF-/MH




<Bi#k REsh—FT AU

F740 #MEO—HVITHTTILAKE

AT Y1461

witEpY (FEERTC)

65— LKW EITRNALTF—

BB (O VEEEBKER)

BJ Oy 14

WX HI(H2T—T.C)

62

TR EHVT—TC)

c7Oy14L

ARBEF(STT)

64 b (FBFERTC)
BB (PTLEERE)

AR EBF(STT)

DJAYY 1L

HepFEE(STT)

61

0O FE(ST)

<Bfk 2fIEEEF—F AT >

AT Oy 24

BE FlF(OFEHYTC)

45— LR EIT7RN\T—D

& fE EF(any time)

BJ 0w/ 24

A{EF=ZF (any time)

41

N BFG@EERLUOAYIL)

crayy241

FFt&HEF (any time)

| 42 AEFEF(any time)
M BF(FELUOCYIL)

RSB (STT)

DIAwvH2{1

KT —=%(GSH)

42

#E JEF(GSH)

<B#k If#FEEL—F AV

AJ O34

BB 8F(OLrX)

45— LER BITRNRLTF—T

B RF(@EELAAYIL)

BJOvY3{iL

BiE mEOLUX)

42

WARBRAFXE(STT)

c7ayY34iL

¥H BEFGEELUD1LvIL)

| 40 #@ BT (ELOSYL)
WA BEGELOCYIL)

A mEGELAALIL)

DI AvH3{I

BB FERGERBLUOCYIL)

40

BEEEF(GELUOAYIL)




E74E MEO—XDYTFTILAKE

<CH#k RBFI)—U >

67 —LEW €ITFNT—D

| 1 2 3 4 |mTHal B | IBGL
ZZ*&.:; ((SSTTTT)) 61|36 46 8 |1-2) 4
e
i m Gaungen | 00 | 49 | N[ 62| 3 |2-1) 2
1(1—2) 2(3—4) 3(1—8) 4(2—4) 5(1—4) 6(2—23)

<D#k RE)—U> 85—LIyF /—TFRNLT—D

U—k L (F—IL#E)

K 2 3 [=raa] BK [ B
ﬁiﬁﬁiiiili 84 | 83| 2 |2-0| 1
R BkE
R o] 48 85| 2 [1-1] 2
e axo—] 38 | 58 > |o-2| 3
1(1—2) 2(2—3) 3(1—-3)

—F 1. lu- AR




